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Candidate is required to write hisfher Roll Number in (i) this
Question Booklet and (i) OMR Answer Sheet supplied
separately; and also put his/her signature at the places
provided for the purpose.

This Question Booklet consists of this cover page, and a
total 60 Items. Use blank pages available at the end of
Question Booklet for rough work.

There are four alternative answers to each item marked as
(@), (b), (c) and (d). The candidate will select one of the
answers that is considered to be correct by him/her. He/
She will mark the answer considered to be correct by filling
the circle.

Use black/blue point pen to darken the circle.

See the following illustration.

llustration:

1.The sumof20and 12is

()32 (b)38 (c)31 (d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

11 ® ® © @

Half filled, faintly darkened, ticked or crossed circles will be
read as wrong answers by the optical scanner and will be
marked as incorrect.

The Bookletand OMR Answer Sheet must be handed over
to the Invigilator before the candidate leaves the

Examination Hall. No page(s) should be torn out fromithe
booklet,

8. Keep OMRAnswer Sheet straight. Do not fold it.

10.

Al questions are compulsory, each question carries one
mark and there is NO negative marking.

Use of calculator/mobile/ any electronic
item/objection material is NOT permitted.
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1.

2.

Section A

Formula for measuring growth rate of a country is :
(a) G—D’;‘D;ﬁ% X 100
GDP,_y—GDP
(b) —G‘D:_T—‘ x 100
(c) ——GD’;‘gfﬁf‘“ X 100
{(d) None of the above
Mahatma Ghandhi National Rural Employment
Gurantee Act (MGNREGA) was passed in the year?
{a) 2003
(b) 2004
(c) 2005
(d) 2006 o
What does TRYSEM stand for :
(a) Training Rural Youth for Self Employment
(b) Training Rural Youth for Social Employment
(c) Training Rural Youth for Security Employment
{d}) None of the above"
In which year Planning Commission was replaced by
NITI AAYOG?
{a) 2012
(b) 2013
(c) 2014
(d) 2016
Who is the Chairman of Fourteenth Finance
Commission?
(a) Mabhavir Tayagi
{b) Dr. Vijay L. Kelkar
(c) Dr. C. Rangrajan
(d) Dr. Y.V. Reddy
When was RBI established?
(a) 1* April, 1935
(b) 1** March, 1934
(c) 1 May, 1935
(d) 1* January, 1935
Disinvestment is related to :
(a) Foreign Investment
(b) Taxation Policy
(c) Sale of Public Sector Units to private Sector
(d) All of the above
India earned maximum amount by export of which of
the following goods in 2013-14 ;
(a) Tea
{(b) Coffee
(c) Computer Hardware & Software
(d) Engineering goods
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10.

11.

12.

13.

14,

15.

According to New Economic Reforms number of
industries reserved for public sectoris___.

(a) s

{(b) 17

(c)2

(d)4

How much percentage of population in 2011-12 was
below poverty line in Himachal Pradesh on basis of
Tendulkar Methodology?

(a) 8.1 -
(b) 8.3
(c)11.2
(d) 14.7
How many subsidiary banks of SBI are merged with SBI
on 1% April, 2017?

(a) 7

(b) 5

(c)6

(d)3

World Bank Group is a family of how many

.
-

organizations?

{a) 6

(b) 5

(¢) 3

(d) 7

SAIL stands for

(a) Special Authority of India Limited
(b) Steel Authority of India Limited
(c) Small Authority of India Limited
{(d) None of the above

When Amartya Sen was awarded Nobel Prize in
Economics in.

{a) 1999

(b) 2000

(c) 1998

(d) 2001

Percentage of population living below poverty line is
called

(a) Head Count Ratio
(¢} Ginni coefficient

(b} Poverty Incidence Ratio
(d) Both {a) and (b)
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17.

18.

19.

20.

21.

22.

ff(x) =2

Section -B
x2—4x+9

, then what will be'the value of
x+5

f(-2) is
(a) 13—3
(b)2

0 2
(d) 22

X21
— i I to
773 isequa

(a) x7

(b) xlB

(C) x17

(d) x%* ..

(2x —y)(4x —>"8y) is equal to
(a) 8x2 + 8y? — 4xy

(b) 8x2 — 8y? + 20xy

(c) 8x2 + 8y? — 20xy

(d) 8x% — 8y? — 4xy

If (2x —7) = (35x + 4), then what will be the value
of x

37
(a) 77

(b) ==

-1
(c) <
(d) -3
Giventwo sets A = {1,2,3,4}and B = {2,4,6,8} then
what will be A-B
(a) {1,2}
(b) {2,4}
(c) {6,8}

(d) {1,3}
9

5173- is equal to

(a) x*

(b) x~3

(C) x26/3

(@) x°/2

¥ = 3x? + 1is a function of which type?
(a) Single Variable

(b) Two Variable

(c) Explicit

(d) implicit
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23.

24.

25.

26.

27.

28.

29.

30.

l0g10 0.1 =

(a)1

(b) 2

(c)-1

(d)-2

In(7) =

(a) Inu — [nv

(b) Inv — Inu

{¢) lnu + Inv

(d)Inuv .
Value of which of th# following is 2.
(a) logyo 1

(b) logyy 100

(¢)logq 0.1

(d) log, 1000

3
Given two matrices A=[4 2-1 0] and B= g , than
1
what will be the value of AB
(a) 20
(b)9
(c)7
(d) 10
J 2-1 _[11 =12 .
IfA—[_14 29 and B= [ 1 —9 ] then which of the
following will be A+B
9 11
G5 3
9 13
(b) [15 13]
13 11
(c) [13 31]
13 -13
(d)[ -13 13]

If Ais 4x1 matrix and B is 1x4 matrix then AB would be
(a) 4x1 matrix

(b) 1x1 matrix

(c) 1x4 matrix

(d) 4x4 matrix

If lny = —9x then y will be equal to

(a) —9x

(b) x°

(C) e—9x

(d)e~?

If f(x) = x3 + 2x + 1, then £(0) will be equal to
(a) 2 (b) 3

(c) 4 (dy1

23.
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26.
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28.
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(a1) 1
@) 2
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RICAREARC R L C (%) =
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31

32.

33.

34.

35.

36.

37

38.f(x)=x3-3x+1is

Section —C
If f(x) = 8x3 + 6, then f (x) will be
(a) 24x?
(b) 11x
(c)24x + 6
(d)5x + 6

Iff(x) = ?,thenf'(x) =

(a) oo

(b) 4e**

(C) e4x

(d) 16e*

Iff(x) = xiz, then f' (x) will be equal to
(a) ;13

(b)

(c) 2x

(d) —2x3

fr =(7s—1)/s then lim,,, =
(@7

(b) 7s

(c) Limit does not exist

(d) None of the above

f(x) = e5* then f (x) =

(a) 25e°%

(b) 5e*

(c) 5e3*

(d) e5%

f(x) = x* - 4x has a local maxima at x =
(a) 1

(b) -1

(c) both (a) and (b)

(d) None of the above

. What is local minima of f(x) = x3 — 12x + 12 at

xX=__.
(a)-2
{b) +2
(c)3
(d)-4
atx = —1
(a) Maximum
{b) Minimum
(c) Saddle point
(d) None of the above
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39. [4x dx =
(a) 4x2 + ¢
(b) 2x2 + ¢
(c) 8x2
(d) x?
40.1f z = 5x3 + 2y2 + x2y2 then :—: S
(a) 15x2 + 4y
(b) 5x% + 8xy2
(c) 15x2 + 2xy2
(d) 10x2 + 6y + 2x

4L.1f z =2y + y2, then find g—;—=

(a) 2xy + 2y
(b) x2 + 2y
(c) x? + y?
(d) 2xy + y?
42.f2 dx =
(a)e* + ¢
(b)x+c¢
(c)lnx +¢
(d)x~1+¢

43.1fq = (13x - 1)/x then limy_, =
(a) 13x
(b)13
(c) Limit does not exist
(d) None of above
4. 0f f(x) = 13x3 + 4x -5, then f'(x) will be___
(a) 26x2 + 4x
(b) 39x% + 4
(c) 13x2 + 4
(d) 13x%2 -5
45. F() = x* + 6x then £ (x) will be
(a) 4x3 + 6
(b)8x3 + 6
(c) 12x2
(d) 12x% + 6

39.

40.

41,

42.

43.

44,

45.
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(@ e* + ¢

@ x+c¢
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() 13
(®) W T wreh
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47.

48.

49,

50.

51.

52.

Section -D

. Histogram is a graphical presentation of a frequency

distribution of a series.
(a) Discrete

{b) Individual

(c) Continuous

(d) None of the above

The sum of squared deviations of the items from the
arithmetic mean is__

(a) Maximum

{b) Minimum

{c) Zero

(d) None of the above

A cloth mill paid 20 lakh to its 8 workers, 6 lakh to its 2
engineers and 10 takh to its 2 managers as wages. What
will be the mean salary of its employees?

(a} 4 lakh

{b) 3 lakh

(c) 3.5 lakh

{d) 2.5 lakh

Height of 7 students measured in cms is 140, 142, 144,
145, 147, 149, 151 what will be the median height of
students?

(a) 144

(b) 147

(c) 146

(d) 145

A company spends 20 lakh on account of salary paid to
its workers, If there are 100 workers in the company.
Then what will he average salary of the workers,

(a) 10000

(b) 15000

(c) 20000

(d) 2000

Geometric Mean of 4,8,16is

(a) 4

(b) 8

(c) 16

(d) 32

Which measure of central tendency can be used to
compute average percent
population?

{a) Mean

(b) Median

(c) Geometric Mean

(d) Harmonic Mean

annual increase in
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53. Dividing a series into four equal parts is called

54.

55.

56.

57.

58.

{a) Decile

{b) Percentile
(c) Quartile
{d) Median

Which of the following is the formula of coefficient of
variation (C.V)
ag
(a) -I\Zf— x 100
g
(b) 7 x 100

()2 x 100 S

(d) None of the above

Who has given a quantitative method of calculating
Correlation?

(a) Spearman

(b) Fisher

(c) Marshall

(d) Pearson

Formula of Rank Correlation coefficient is :

16507

(a)ne =1~
65D

(b)re = 1-3=%
65D

(e =1 NN
65D

(d) Tk = 1 + N3-N

Harmonic Mean of 2 and 3 is

{a) 2.5

{b) 1.3

(c)1.6

(d) 2.4

When A and B are independent event, then P(AB) will
be

(a) P(A) + P(B)

(b) P(A) = P(B)

(c) P(A) x P(B)

(d) None of the above

59 What is the probability of getting a head in a tossing of a

coin?

(a) 1/,

(b) 2

(c)1

(d) None of the above

60. Standard Deviation of three numbers2,3and 4is___

o) 2 (o)
3
:

(d) 1.5

-
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56.

57.
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60.
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